ADJUSTABLE ROLLER CARRIER
ATTACHED W/ (2> 5/16° x 3/4*
BOLT & NUT PER BRACKET,

2°-10 BALL 9’ (MIN>
STEM ROLLERS

W/ RETAINERS USED FOR
NON THREADED SHAFTS

@ 12 GA, GALYV,
COMMERCIAL TOP ROLLER
BRACKET ATTACHED W/(3)
174° x 3/4° HEX HEAD
SCREWS PER BRACKET

45’ 20 GA. R-TRUSS ATTACHED
W/ (4> 1/4* x 3/4° HEX HEAD
SCREWS AT EACH END STILE
AND (2> 1/4" x 3/4" HEX HEAD
SCREWS AT EACH CENTER STILE

TYPICAL TOP FIXTURES /.\

2°-10 BALL 9" (MIN>
STEM ROLLERS

W/ RETAINERS USED FOR
NON THREADED SHAFTS

SCREWS AT EACH CENTER STILE

TYPICAL END HINGE @

14GA, (MIN.) CENTER HINGE ATTACHED
W/ A TOTAL OF (5> 1/4° x 3/4°

EX HEAD SCREWS

(2 SCREWS IN THE TOP LEAF

(3> SCREWS IN THE BOTTOM LEAF

W/ (4> 1/4° x 3/4" HEX HEAD
SCREWS AT EACH END STILE

SCREWS AT EACH CENTER STILE

N.T.S.
N.T.S.
e
24° MaX & \
SECTION 8 - .
HEIGHT ] | ]
| A [a) A A
A A A A X
A A A A :
N.T.S.

TYPICAL CENTER HINGE @

445" 43¢ 43" 43¢ 445*
3* X 20 GA. STRUT ATTACHED
W/ (4> 1/4* x _3/4* HEX HEAD
e SCREWS AT EACH END STILE
—l8'-2 AND (374 x 3/4° HEX HEAD DDA s A BOTTON BRACKET
WS AT EACH T
INSI VATION SCREWS AT EACH CENTER STILE HEX HEAD SCREWS
N.T.S. —
\ °
2°-10 BALL 9 (MIN) 094
e STEM ROLLERS o o [@ @]
AR X Ttaeirl)/ 1 s s
ATTACHED W/(4) 1/4°X3/4*
JAMB SEAL No2 SYP DR BETTER 2X6 JAMB Fex VEan SiRevs
OPTIONAL 5/16° x | 5/8° LAG

20 GA., GALYV. STEEL END STILE

SCREW (1> PER
JAMB BRACKET

ATTACHED TO DOORS SKIN WITH

(2 #8 X 1/2" SCREWS PER STILE

1> 1/4~-20 x S5/8°TRACK
SPLICE BOLT AND NUT PER
JAMB BRACKET

2" GALV. STEEL TRACK
THICKNESS 083"(MIN)

EDGE OF

INTERMEDIATE
HINGES 14GA (MIN.)

TRACK MOUNTING DETAIL

N.T.S.

2°-10 BALL 9° (MIN> STEM
ROLLERS W/ RETAINERS USED
FOR NON THREADED SHAFTS

45’ X 20 GA. R-TRUSS

DOOR 1” OVERLAP ON EACH SIDE

TYPICAL BOTTOM BRACKET 4
N.T.S.

(@ 14GA. (MIN) ROLLER HINGES ATTACHED
W/ A TOTAL OF (5> 174" x 3/4*
HEX HEAD SCREWS EACH
(@ SCREWS IN THE TOP LEAF
(3> SCREWS IN THE BOTTOM LEAF
TYPICAL TOP
MODEL 2700
27 GA. (015° MIN>
45" 20 GA. R-TRUSS ATTACHED X
W/ (4> 1/4" x 3/4" HEX HEAD PREPAINTED STEEL
CREWS AT EACH END STILE
AND (2) 1/4" x 3/4” HEX HEAD

OR MODEL 2720
20 GA <034 MIN>

INTERMEDIATE

TONGUE & GROOVE
SECTION JOINT

TYPICAL BOTTOM £

SECTION 4

=

POLYURETHANE =

45° 20 GA. R-TRUSS ATTACHED INSULATION CORE ﬁ
2

AND (2> 1/4° x 3/4° HEX HEAD BOTTOM BRACKET
13 GA. (MIN>

SECTION

T ey

A

s

NG
CAA .

]
B

TYPICAL
SECTION

e P L L G

SIE
o

SECTION A—A (SIDE_VIEW)

"E
e

(2 12 GA, GALV. COMMERCIAL TOP
ROLLER BRACKETS ATTACHED WITH
(3 1/74° x 374" HEX HEAD UNIV,
SCREWS PER BRACKET ADJUSTABLE
SLIDE BRACKET IS ASSEMBLED WITH
(@> 5/16° x 3/4° CARRIAGE BOLTS
& NUT PER" BRACKET

(1> 45" X 20 GA. R~TRUSS ATTACHED
W/<4> 1/4" X 3/4" HEX HEAD SCREWS
AT EACH END (2> PER STILE AND
W/(@> 1/4° X 3/4" HEX HEAD
SCREWS AT EACH CENTER STILE

INTERIOR SKIN 27 GA

3-174° X 20 GA CONTINUOUS
BACKER PLATE BEHIND BACK
SKIN AT TOP AND BOTTOM OF
EACH SECTION

(1> 3° X 20- GA. STRUTS
ATTACHED ON BOTTOM SECTION

THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE WITH THE

PROCEDURES DESCRIBED IN ANSI/DASMA 108, 115, AND ASTM
£1886, E1996, F588. THE PRESSURES SHOWN ON THE DRAWINGS WERE

CALCULATED USING ASCE 7-98/02/05 WITH THE FOLLOWING PARAMETERS
(5 FEET OF DOOR WIDTH IN END ZONE, ROOF SLOPE 10* OR LESS, I=1.0):

WIND SPEED (MPH) 136 123 117 112 107

EXPOSURE LEVEL B C C D D

MEAN ROOF HEIGHT | 30’ 15' 25 15" 25'

N.T.S.

REV | DESCRIPTION OF REVISIONS ‘ DA |BY
]
MAX SIZE | &3 g
182 x 24 | 88 SN N
23 “E OFT E \\ 2
PN S :
DESION LoADS| £5 AN 4‘9 ,H
+251 PSF | ZE 2, ¥ .l
~28.4 PSF | wx g
g< <
- Q
TEST LOADS | 54 z
+37.7 PSF | ES \. z
-42.6 PSF | £32 e
L2 S Loaredianess g@,’ £
85 WOSIoNAL BT 2
5¢€ M ©
= -b —
"5 TX g

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 WWW.AMARR.COM

arry

MODEL 2700 (27 GA)
MODEL 2720 (20 GA)

SE| ORAWBY RR| DATE 07/25/13 DRAMING NUMBER
B | cHecken BY DATE IBC-2718-130-24~|
SHEET 1 OF 3




TRACK CONNECTION DIRECTLY TO STRUCTURE OPTIONS

SIMPSON STRONG-TIE 2000 PSI MIN. SIMPSON STRONG-TIE

ITW BUILDEX 1/4"-14 12 GA. OR 3/16* 1/8° NOM X 1 LONG 1/4° LONG TACK 2000 PSI MIN.
X 3/4* SELF-TAPPING STEEL <SEE BELOW) CONCRETE 3/8°¢ WEDGE-ALL CONCRETE 3/8°¢ SLEEVE-ALL
SCREW'S (TEKS)\ / A e WELD SAME SPACING \ EXPANSION ANCHOR WITH \ EXPANSION ANCHOR WITH
. 7/8'¢ WASHER. 1-3/4’MIN. 7/8’¢ WASHER. 1-3/4°MIN.

v aa

EMBEDMENT

b

““+] EMBEDMENT

AR BN

T 2-5/8" THICK
WALL MIN,
(1.5 x EMBEDMENT)

2-5/8" THICK
WALL MIN.
(1,5 x EMBEDMENT>

CLIP STYLE REVERSE ANGLE MOUNT SHOWN o . . MIN.
BRACKET, CONTINUOUS AND TAPERED ANGLE r‘—“‘gISDTﬂ:,ﬁCEDGE P_"——’"SIS¥ANCEDGE
MOUNT AVAILABLE BRACKET, CONTINUDUS AND

TAPERED ANGLE MOUNT AVAILABLE CLIP_STYLE CONTINUOUS ANGLE MOUNT SHOWN NTIN \ELE MOUNT SHEWR
12_GA,_STEEL FRAMING BRACKET, REVERSE AND TAPERED ANGLE MOUNT CONTINUOUS._ANGLE_MOUNT_SHOWN
232 LBS./SCREW ALLOWABLE LOAD - 37 T FRAMIN A OR BETTER AVAILABLE BRACKET, CEINATINUEIUS AND TAPERED ANGLE
FROM ENDS AND 12¢ OC. 1590 LBS./IN, ALLOWABLE LOAD - , MOUNT AVAILABLE
REFER TO NOTES: 1, 2 AND 5 67 FROM ENDS AND 24° 0O.C, 2000 PSI CONCRETE OR GREATER 2000 PSI CONCRETE [R GREATER

, REFER TO NOTES: 1, 2,5, 6, 7. 8 351 LBS./EXPANSION ANCHOR ALLOWABLE LDAD - 536 1BS/EXPANSION ANCHOR ALLOWABLE

/16" STEEL FRAMIN . 6’ FROM ENDS AND 18° OC. - LOAD - 6° FROM ENDS AND 16’ L.C.
569 LBS./SCREW ALLOWABLE LOAD - 6 REFER TO NOTES: 1, 2, 3, 4 AND 5 REFER TO NOTES: 1, 2, 3, 4 AND 5

FROM ENDS AND 24‘ 0O.C.
REFER TO NOTES: 1, 2 AND S

9% 14 GA (MIN> VERTICAL ANGLE ATTACHED

TRACK CONNECTION TO WOOD JAMB OPTIONS

BOLTS AND TO TRACK W/ (4> 1/4°-20 x 5/8° FOR LAG SCREWS & BRACKET SPACING SEE TABLE 1
TRACK SPLICE BOLTS AND NUTS

” 1”
/Z; ) !
//i Z:
GF SPLICE TRACKS AT THIS LOCATION /
W/ (4 1/4"-20 TRACK SPLICE BOLTS & NUTS
SECURE TO JAMB WITH ¢3> 5/16" DIA. S5/16% x 1 5/8°
x 1-5/8° LAG BOLTS LAG SCREW (1> REV | DESCRIPTION OF REISIONS DATE  [BY
PER JAMB BRACKET
(1-1/2* EMBEDMENT BRACKET MOUNT CONTINUOUS ANGLE MOUNT REVERSE ANGLE MOUNT
MINIMUM> (TYP.) 2x6_WOOD JAMB SYP MAX SIZE | 9
> 5/16* DIA. x 1-5/8° (NO.2> OR BETTER (TYP.) 182 x 24 | T8 SN N
WLAIEE O M TABLE | G SEOEIEN  f
DOOR TRACK ATTACHMENT SPLICE DEf;%N1 LQS/;DS W ;‘ PLNRRY _.4&") 3
12 GA. GALV. STEEL HEIGHTIA| B | C | DJE|JF|G|JH[ I |J]|K]L S . _28.4 PSF E§ z - <
O s S v 5 i Ll 75| s = /2
9. 3'5.. 38.. 46,. 56,, 68,, 100,, 2. FIRST ¢BOTTOMY ANCHOR STARTING AT NO MORE THAN HALF +37.7 PSF | 25 N
TRACK ATTACHMENT CAN BE BRACKET 10' ]3.5"[38" [46" |56" |68 112 OF THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR —-42.6 PSF | ©5 .
NOONT, EONTINUEUS, REVERSE ANGLE T 3538 46" 156" leg 78" 194" INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING. 53 2
T R D R i OLE 127 |3.5°|38" |46" |56" |68" |78" 136" 3. MIN. EGDE DISTANCE OF 3* REGUIRED. 8% 3
CONFIGURATIONS) 13" [3.5"|38" |46" |56" [68" |78" [88" 148" 4, USE WASHERS PROVIDED BY THE ANCHOR MANUFACTURER. 23 2
ALL TRACK BRACKETS AND TRACK 14' {3.5"|38" |46" |56" |68" |78" |88" 160" o a
5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY
E/IEJTZS(S)RERIQ)E'?? Hgg (Tnn JT/%Ego 15" 13.5"{38" |46" |56" |68" |[78" |88" [100" 172" A .  REGISTERED PROFESSIONAL ENGINEER FOR WIND LDADS -
IN ADDITION TO OTHER LDADS.
BOLT & NUT 16" |3.5"|38" |46" |56" |68" |78" |88" |100" 184"
ALL TRACK BRACKETS OR TRACK 17" |3.5"|38" |46" |56" |68" |78" |88" [100"[110" 196" G R R R B S oy
%IPCSA ARE TO FOLLOW SPACING AS 18 135138 46" [56" [68" 78" 8" 700" [110" 208" STEEL.
19' |3.5"{38" |46" |56" (68" |78" (88" |100"|110"|120" 220" 7. ALL WELDS SHOULD BE PERFORMED BY A CERTIFIED 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM
i ’ 20v 3.511 38“ 46" 56" 68" 78“ 88» 10011 110" 120" 232" ¥|JEL\];EEIFD$ %:EPIE"?';'[EE&JRI%YY ?]chri.rEIFéEEED\.JELDING INSPECTOR MODEL 2700 (27 GA)
TRACK _CONFIGURATION FOR &' UP TO 24" TALL DOORS 21" |3.5"]|38" [46" |56" |68" |78" (88" [100" [110"[120"[132"[ .| 244" MODEL 2720 (20 GA)
¥SPLICE LOCATION FOR STANDARD LIFT, WILL VARY FOR - T T e BT e —t— m m T - - 8. FILLET WELDS TO HAVE A STRAIGHT OR CONVEX FACE
OTHER LIFT APPLICATIONS. Al TRACK ATTACHMENT 22' |3.5"|38" |46" |56" (68" |78" |88" 100" 110" [120" 132 256 SURFACE. STE| DRAWNBY  RR| DATE 07/25/13 DRAWING NUMBER
EE&SEI?_T,%ME@Y u?QLIB%yI'TEé‘SNL\‘}/.HEN USING SYP ND2 23" |3.5"|38" [46" |56" [68" [78" [88" [100"{110"|120"|132"|142"| 268" 9. TACK WELD TOE OF ANGLE AT SAME SPACING TO PREVENT B [ creoke gy DATE IBC-2718-130-24-
24 |3.5'|38" [46' |56° [68" [78" [88" [100" [110" [120" [132" [142"| 280" | ROTATION OF TRACK ANGLE.
' SHEET 2 OF 3




WOOD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL)

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
5/16" X 3" LAG SCREWS STARTING 6" FROM ENDS THEN 20" O.C. (1 1/2" EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE
HILTI KWIK BOLT 3/8" X 4" STARTING 6" FROM ENDS THEN 24" O.C. (2 12" EMBEDMENT)

2X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-90 BLOCK
SIMPSON 1/4" X 3" TITEN SCREWS STARTING 6" FROM ENDS, USE PAIRS OF FASTENERS
(3" APART) AT 8" O.C. (1 1/2" EMBEDMENT)

(3" APART) AT 8" O.C. (1 1/4" EMBEDMENT)

2X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C-90 BLOCK (2000 PSI GROUT)

(OR, USE FASTENERS FOR HOLLOW C-90 BLOCK)

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF WOOD JAMBS BY OTHERS

HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS THEN 18" O.C. (1 1/4" EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLT) 3/8" X 4" STARTING 6" FROM ENDS THEN 24" O.C. (2 1/2" EMBEDMENT)

HILTI 1/4" X 2-3/4" KWIK-CON II+ SCREWS STARTING 6" FROM ENDS, USE PAIRS OF FASTENERS

HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS THEN 22" O.C. (1 1/4" EMBEDMENT)

TABLE 2

00D ! oo Section Width Center Stile Locations
Z| |STRUCTURE STRUCTURE (Measured from Left Edge)
§t \ ‘ . . st | 2nd | 3d | 4th
5 =] = ® L @ Gy | Gy | ) | dn)
g || 7 0 39 81 123 | 165
1727 MIN 2~3/4" MIN 1 71 2 40 82 124 166
2X6 JAMB
HOLLOW TYP. GROUTED 17’ 4 41 83 125 167
STRUCTURE STROCTURE 17 6 42 84 126 168
1 17 8 43 85 127 169
! ::| ! 17' 10 44 86 128 170
T l | 43.5 86.5 129.5
1-1/72* MIN B 4°
3* MIN FOR DOOR SIZES LESS THAN 17°0 CONTACT ENGINEERING

SPLICE TRACKS W/
(4>-20 TRACK SPLICE
BOLTS & NUTS

2’ €083 MIN)> OR 3” 12 GAs
MIN.) VERTICAL TRACK

STANDARD LIFT

LOW HEADROOM
L.
HIGH UFT

| i

AVAILABLE TRACK CONFIGURATIONS
N.T.S.

DOOR HEIGHT

DN\

S

AV ~ AN

__OhOOO

N

NN

oy

VERTICAL UFT

SPECIFICATIONS

1L

INTERIOR OF GARAGE

MAX. WIDTH 18'2"  j=a—

pesiN Loaps| f P T PP T T 1]

ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK, FROM
THE TRACK THE LDAD IS TRANSFERRED TD THE VERTICAL JAMBS. THE HORIZONTAL
JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD TRANSFERRED FROM THE
DOOR

EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
+228.0 LBS/FT & -2580 LBS/FT

DDOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED AND INSTALLED WITH
STANDARDS AS SET FORTH BY DASMA.

DOOR SECTIONS SHALL BE 27 GA. (0131> MIN. EXTERIOR SKIN ROLLFORMED,
W/BAKED ON POLYESTER FINISH

+228.0 LBS/FT
—258.0 LBS/FT

SEE SPECIFICATION 2

DDORS UP TDO 240 HIGH USE (1> 4.5 R-TRUSS PER SECTION AND <1> ADDITIONAL

3" STRUT ON THE BOTTOM SECTION

SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A REGISTERED
PROFESSIONAL ENGINEER FOR WIND LOADS INDICATED ON THIS DRAWING IN

ADDITION TO OTHER LOADINGS.

—
X

REV | DESCRIPTON OF REVSONS DAE  |BY
MAX SIZE | _— g
18'2 x 24 §~§ e O Y ~
o . EOF TE \ .ﬁ%U
KXo PYTXT -
DESION LOADS| & ; *\?.:‘ iy \‘ g
+251 PSF | ZE 2 9 ‘9 %
~284 PSF [Zi 2 X7 g
& ; * /] g
e (L)
ot Losos | 22 4 THOMAS L SHELMERDINE’ -
- ’;ooutocclttotooootloo t-.’.' >
+37.7psF | 258 H7% pd
-42.6 PSF | B% '9p' 2
oPS |22 4/(’ %1
3% ‘\ °S/ONXLE“ d =
5% At ?
£
25 5
w0

165 CARRIAGE

arr,

COURT WINSTON-SALEM, NC. 27105

WWW.AMARR.COM

MODEL 2700 (27 GA)
MODEL 2720 (20 GA)

SIZE| DRAWN BY

RR| DATE 07/25/13

B | cHecxen B

DATE IBC-

DRAWING NUMBER

2718-130-24-1

SHEET 3 OF 3




